ENGINEERING PHYSICS 4D3/6D3

DAY CLASS Dr. Wm. Garland
DURATION: 20 minutes
McMASTER UNIVERSITY QUIZ #2 October 23, 2001

Special Instructions: Closed Book. All calculators and up to 6 single sided 8 2" by 11" crib

sheets are permitted.

THIS EXAMINATION PAPER INCLUDES 2 PAGES AND 2 QUESTIONS.
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[10 Marks]  Briefly:

a. distinguish between neutron flux and neutron current
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b. distinguish between reactivity, p, and multiplication factor, k
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c. describe € of the four factor formulae
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describe f of the four factor formulae S;
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f. describe p of the four factor formulae
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distinguish between geometric buckling and material buckling
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[10 marks] What is the obvious error in the following expressions? Explain briefly.

a. Steady state one-group neutron balance equation:

DEVP(r) - Z,(d(r)= VE(I()
QM Mgﬁ VoY -2, 40 3P -
HUIIDUE AL P < 55g Beo D) 't
b. 2 otal < Labsorption M M 8\ Q s ( )

waw = Zakot ‘?s:diu...\ Z&Q > ?q&g

o

The gradient of the flux is continuous at an interface
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e. For a reactor operating at constant power, as the fuel is burned up, the flux

remains constant over time
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f. I'* decays with a half life of 9.17 hours to Xe'** which decays with a half life of
6.58 hours
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h. TFor the samc power, the smaller the reactor, the lower the flux.
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